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A pool measuring 20 meters is surrounded by The width of the path is |:| meters.
a path of uniform width—= ; :
2+ bdwr Q =60
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Enter any number or expression in the edit field, then click Check Answer. ® y
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a. Write an expression for the area of the shaded region.

b. Write the expression in factored form. o o
The area of a rectangle is Base * Height. l EK

The area of a circle is 7. \ ﬁx /

a. The area of the shaded region is ID (Do not factor.) ( JI\ }(\\
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L This exercise has not been completed.

1 part remaining
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a. Write an expression for the area of the shaded region.
b. Write the expression in factored form. 0\.’\ c‘g& ‘1 o g§— Help Me Solve This
The area of a rectangle is Base % Height. -
The area of a circle is 7r?. \ /

i
a. The area of the shaded region is |:| (Do not factor.} \/_\’\_J
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A tree is supported by a wire anchored in the ground 18 feet from its base. The wire is 5 feet longer than the height that it
reaches on the tree. Find the length of the wire.

g— Help Me Solve This

The wire is |:| feet long. (Simplify vour answer ) i View an Example
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L Enter any number or expression in the edit field, then click Check Answer.
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polynomual is prime.
16. 14.::-1l — 15x? @ﬁf
17. 81y° — 25
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31. x° — 2x° — 24

.,
32. 12x°y — 27xy + 6y
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18. x° + 3x* — 25x — 75

19. 25x%2 — 30x + 9
y ag( 20. x* + 10x + 25 — 9y?
21. 4




